Sr

10

1"

12

13

14

15

Questions

g e 38 S 51 08 2,18 3

€U e o) oS 1l 1S

Dlin § 42l 1S (5 oS

§ o lla Ua —wseli S o 2 )

= o) o shan,

?du,gd.alacuaasth.%tsjts

f o im (S Sl

2 s el S U S an)

fot U deals o b oS o)

el s S e oS 38 1S o)

§ 2l Jlasid 1S gla (S U338 S OS Sl S

§ 2 ik S calis (S (s5S wdee S Ba

2 s deiud O Sdae S S s,

Answers Choice

A

> DO » DOWr DOWr DOWP» DOWH» DOWP» DOW> DO®m» DOWP» DOWm> DOWU» DOW> DOW> 0O

il

ana
A yal
hSL

BB
ey
Do
BIBTERCE

Sman
50
e
o
4:"‘-.‘):‘
sy
d z
5

on
=

g
P

700 S5 5 1100
800 <S5 jiw 1200 —
900 53 s 1300 =
600 S5 5t 1000 —

700 S5 5 1100
800 <53 s 1200 —
900 <S5 5t 1300 —
600 3 st 1000 —

P |

=03

e 38 S ey
i Sl

&
BI

Sl

Sl (s
=Tl
u‘“:‘ﬂJ

et






